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[1] #include <iostream>

[2] #include <vector>

[3] #include <algorithm>

[4] #include <string>

[5] using namespace std;

[6] ostream& operator<< (ostream& stream, const pair<int, int>& a) {

[7] stream << "{" << a.first << ", " << a.second << "}";
[8] return stream;

(el }

[1e]

[11] ostream& operator<< (ostream& stream, const vector<int>& a) {
[12] for (auto x : a) {

[13] stream << x << " ";
[14] 3

[15] return stream;

[16]}

[17]

[18] ostream& operator<< (ostream& stream, const vector<pair<int, int>>& a) {
[19] for (auto x : a) {

[28] stream << x << " "3

[21] }

[22] return stream;

(231}

[24]

[25] ostream& operator<< (ostream& stream, const pair<long long, long long>& a) {
[26] stream << "{" << a.first << ", " << a.second << "}";

[27] return stream;

(28]}

[29]

[32] ostream& operator<< (ostream& stream, const vector<long long>& a) {
[31] for (auto x : a) {

[32] stream << x << " ";
[33] 3

[34] return stream;

[351}

[36]

[37] ostream& operator<< (ostream& stream, const vector<pair<long long, long long>>& a) {
[38] for {auto x : a) {

[39] stream << x << " "3
[4e] }

[41] return stream;

(421}

[43]

[44]

[45]

[46]

[47]

[48]

[49]

[58]



[51]

[52]

[53]

[54]

[55]

[56] const int sz = 56;

[57]

[58] void solve() {

[59] vector<long long> T(sz);
[60] T[e] = T[1] = T[2] = &;
[61] T[3] = 1;

[62] for (int 1 = 4; i < sz; i++) {
[63] T[i] = T[1i - 1] + T[4 - 2] + T[1 - 3] + T[1i - 4];
[64]

[65] int n;

[66] cin »> n;

[67] vector<long long> a(n);

[68] for (int i = 8; i < n; i++) {
[69] cin »> a[il;

[7@] L

[71] int ans = 8;

[72] for (auto w : a) {

[73] long long x = w;

[74] int ¢ = B;

[75] while (x > @) {

[76] for (int 1 = sz - 1; i »>= 8; i--) {
[77] if (x - T[1i] »= @) {
[78] x -= T[i];
[79] c++;

[8e] break;

[81] ¥

[82] T

[83] 3

[84] ans += (c % 2 == @);

[85] J

[86] cout << ans;

(8717

[88]

[89]

[90] int main() {

[91]

[92]

[93] solve();

[94]

[9511%
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[1] alp = [x for x in "PWROYGCBVD"]
[2] alp.sort()

[31 d={}

[4] for x in alp:
[5] d[x] = @
[6]

[7] sz = 4690
(8l

[9] pows = [@] * sz
[18] pows[B] = 1
[11] for i in range(l, sz):

[12] pows[1i] = pows[i - 1] * 8.5
[13]

[14] def tr(x):

[15] if x ==

[1B] return "1.8"

[17] if x ==

[18] return "0.8"

[19] i=1

[28] res = "@."

[21] while x » @:

[22] if x - pows[i] »= B:
[23] x -= pows[i]
[24] res += "1"

[25] else:

[2B] res += "@"

[271] 141

[28] return res

[29]

[3e]

[31]

[32] def rec(idx, V):
[331] global s

[34] res = [idx]

[35] for i in range(8):
[36] if s[idx] == "Q":
[37] idx = rec(idx + 1, V / 8)
[38] else:

[39] d[s[idx]] += V
[48] idx += 1

[41] res.append(idx)
[42] return idx

[43]

[44]

[45] s = input()

[46] mx = -1

[47] v = "NULL"
[48] if len(s) == 1:
[49] v = s[@]

[5e] mx = 1

[51] else:

[52] rec(l, 1 / &)

[53] for key, value in d.items():
[54] if value > mx:

[55] mx = value

[56] v = key

[57] print(v)
[58] print (tr{mx))

[59] #8123456789 1@ 11 12 13 14 15 16 17 18 19 20 21 22 23 24

[60] #QQDWWWWWWW Q W D W W W W W W D D W

W W W
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[1] sim
[2] d =
[3] for
[4]
(5]

[6] pows

= ["[]") "i") "i(“, "i{("J "I"J “I("J "I((", "]“,
{3

i in range(13):

d[sim[i]] = i

= [8] * 200

[7] pows[B] =1

[8] for
[e]
[18]
[11] def
[12]
[13]
[14]
[15]
[16]
[17]
[18]
[19]
[28]
[21]
[22]
[23]
[24]
[25]
[26]
[27]
[28]
[29]
[38]
[31]
[32] def
[33]
[34]
[35]
[36]
[37]
[38]
[39]
[48]
[41]
[42]
[43]
[44]
[45]
[46]
[47]
[48]
[49]
[5e]
[51]
[52] def
[53]
[54]
[55]
[56]
[57]
[58]
[59]
[68]
[61]
[62]
[63]
[64]
[65]
[66]
[67]
[68]
[69]
[78]
[71]
[72]
[73]
[74]
[75]

i in range(1, 200):
pows[i] = pows[i - 1] * 12

to_num(s):
n = len(s)
i=9
res = []
cur = ""
while i < n:
cur += s[1i]
while i + 1 < n and (cur + s[i + 1]) in d:
cur += s[1i + 1]
i+=1
i+=1
if cur not in d:
continue
res.append(d[cur])
cur = ""
sz = len(res)
val = @
for i in range(sz):
val += res[i] * pows[i]
return val

to_str(x):
if x ==
return "[]"
sz = 1@l
res = [-1] * sz

for i in range(sz - 1, -1, -1):
for w in range(12, @, -1):
if x - w * pows[i] == 8 and 1 != @:
continue
if x - w * pows[i] »= @:
X -= w * pows[i]
res[i] = w
break
R
idx = 8
while res[idx] != -1:
s += sim[res[idx]]
idx += 1
return s

solve():

int(input())
[e] * n

3
nn

for i in range(n):
a[i] = to_num(input())

for i in range(n):
for j in range(i + 1, n):
res = abs(a[i] - a[3])
if res » delta:
delta = res

u])nJ u])}nj ujuJ

ans = [i, j]
if res == delta and ans[@] + ans[1] < i + j:
ans = [i, j]

print(to_str(ans[@] + 1
print(to_str(ans[1] + 1

)
b))

[76] solve()

"3, "INT]
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[1] #include <iostream>

[2] #include <vector:>

[3] #include <algorithm>

[4] #include <string>

[5] #include <set>

[6] using namespace std;

[7] ostream& operator<< {ostream& stream, const pair<int, int>& a) {

[8] stream << "{" << a.first << ", " << a.second << "}";
[e] return stream;

[1e] }

[11]

[12] ostream& operator<< (ostreamf stream, const vector<int>& a) {
[13] for (auto x : a) {

[14] stream << x << " "3

[15] ¥

[1B] return stream;

(171 1}

[18]

[19] ostream& operator<< {ostream& stream, const vector<pair<int, int>>& a) {
[2@] for (auto x : a) {

[21] stream << x << " "3

[22] }

[23] return stream;

[24] }

[25]

[26] ostream& operator<< {ostream& stream, const pair<long long, long long>& a) {
[271] stream << "{" << a.first << ", " << a.second << "}";

[28] return stream;

(291 }

[3e]

[31] ostream& operator<< {ostream& stream, const vector<long long>& a) {
[32] for (auto x : a) {

[33] stream << x << " "3
[34] ¥

[35] return stream;

[36]1 1}

[37]

[38] ostream& operator<< {ostream& stream, const vector<pair<long long, long long>>& a) {
[39] for (auto x : a) {

[4@] stream << x << " "3
[41] }

[42] return stream;

[43] }

[44]

[45]

[46]

[47]

[48]

[49]

[5e]

[51] const int maxn = 28;

[52] const int maxm 209;

[53]

[54]1 long long dp[maxn][maxn][maxn][maxm];
[55]

[56]

[57]

[58]

[591



[68] int cnt(int mask, int sz) {

[61]
[62]
[63]
[64]
[65]
[66]
[67]
[68]
[69]
[7e]
[71]
[72]
[73]
[74]
[75]
[76]
[77]
[78]
[79]
[8e]
[81]
[82]
[83]
[84]
[85]
[86]
[87]
[88]
[89]
[9e]
[91]
[92]
[93]
[94]
[95]
[96]
[97]
[98]
[99]
[108]
[101]
[102]
[103]
[104]
[185]
[106]
[107]
[108]
[109]
[110]
[111]
[112]
[113]
[114]
[115]
[116]
[117]
[118]
[119]
[120]
[121]
[122]
[123]
[124]

int ¢ = 8;
for (int 1 = @;
if ((mask >»
cH+;
b
¥

return c;

int main() {
int n, m;
cin »*>> n »> m;
int i1, i2, i3;
cin »>> il »>» i2

1< szj; i++) {
i) & 1) {

>» i3;

vector<vector<long long>> a(n, vector<long long>{m));

for (int 1 = @;
for (int j =
cin »>> a
}
¥

dp[il][i2][i3][e]

for (int j = 1;
for (int i1
for (int

for

1] + delta);

¥
3

i< n; i++) {
0; j < m; j++) {
[11031;

= a[i1][@] + a[i2][@] + a[i3][@];
3 < m; Jee) {
=@8; 11 < n; il1++) {
i2 = @; i2 < n; 12++) {
(int i3 = @; 13 < n; 13++) {
set<int> pos;
pos.insert(il);
pos.insert(i2);
pos.insert(i3);
long long delta = 8;
for (auto p : pos) {
delta += a[pll[il;
¥
for (int p_il = i1 - 1; p_il1 <= i1 + 1; p_il++) {
if (p_ il >=n || p_ i1 < @) {
continue;
1
for (int p_i2 = i2 - 1; p_1i2 <= 12 + 1; p_1i2++) {
if (p_i2 >=n || p_i2 < @) {
continue;
}
for (int p_i3 = i3 - 1; p_i3 <= i3 + 1; p_1i3++) {
if (p i3 »>=n || p i3 < 0) {
continue;

¥
dp[i11[i21[i3]1[3] = max(dp[i1][i2][i3][]], dplp_i11[p_i2]1[p_i31[] -

long long mx = 8;

for (int i1 = @;

for (int i2
for (int
mx =
b
}

¥

cout << mx;

il < nj il++) {
= @; 12 < n; i2++) {
i3 = @; i3 < n; i3++) {
max(mx, dp[i1][i2][i3][m - 1]);
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[1]

[2]

[3]

[4]

[5]

[e]

[7]

(8]

[9]

[18]
[11]
[12]
[13]
[14]
[15]
[16]
[17]
[18]
[19]
[20]
[21]
[22]
[23]
[24]
[25]
[26]
[27]
[28]
[29]
[3e]
[31]
[32]
[33]
[34]
[35]
[36]
[37]
[38]
[39]
[40]
[41]
[42]
[43]
[44]
[45]
[46]
[47]
[48]
[49]
[58]
[51]
[52]
[53]
[54]
[55]
[56]
[57]
[58]
[59]
[60]
[61]
[62]
[63]
[64]

#include <iostream>

#include <vector>

#include <algorithm>

#include <set>

#include <string>

using namespace std;

ostreamf operator<< (ostream& stream, const pair<int, int>& a) {
stream << "{" << a.first << ", " << a.second << "}";
return stream;

¥

ostream& operator<< (ostream& stream, const vector<int>& a) {
for (auto x : a) {
stream << x << " ";
¥
return stream;

¥

ostreamf operator<< (ostream& stream, const vector<pair<int, int>>& a) {
for (auto x : a) {
stream << x <<

wom,
>

¥

return stream;

¥

ostream& operator<< (ostream& stream, const pair<long long, long long>& a) {
stream << "{" << a.first << ", " << a.second << "}";
return stream;

¥

ostreamé operator<< (ostream& stream, const vector<long long>& a) {
for (auto x : a) {
stream << x << " ";
h

return stream;

¥

ostreamf operator<< (ostream& stream, const vector<pair<long long, long long>>& a) {
for (auto x : a) {

stream << x << " "3

}

return stream;

const int sz = 138;
const int maxn = 58088;

int main() {
vector<int> cnt_a(sz), cnt_b(sz);
string s, t;
cin >> s >> t;
if (t.size() == 0) {
cout << "";
return @;



[65] for (auto c : t) {

[66] cnt_b[c]++;

(671 3}

[68] int ¢ = 8;

[69] for (auto x : cnt_b) {

[7e] if (x) {

[71] c++;

[72] }

[73] }

[74] int n = (int) s.size();

[75] int 1 = 8;

[76] cnt_a[s[@]]++;

[77] int cur = 6;

[78] if (cnt_a[s[@]] == cnt_b[s[@]] &R cnt_b[s[8]]) {
[79] cur++;

[8e] }

[81] if (cur == c) {

[82] cout << s[@];

[83] return 8;

[84] b

[85] pair<int, int> ans = {-1e8, 1le8};

[86] for (int r = 1; r < n; r++) {

[87] cnt_al[s[r]l++;

[88] if (cnt_a[s[r]] == cnt_b[s[r]] && cnt_b[s[r]]) {
[89] cur++;

[ge] 3

[91]

[92] while (cur == c && 1 <= r) {

[93] [/ cout << 1 << "M KK r <" ="K ocur <", €= " << € << "\n";
[94] [/ cout << "cnt_a = " << cnt_a << "\n";
[95] if (cur == c) {

[96] if (ans.second - ans.first + 1 > r - 1 + 1) {
[97] ans = {1, r};

(e8] I

(991 }

[100] if (ent_a[s[1]] == cnt_b[s[1]] && cnt_b[s[1]]) {
[1e1] cur--;

[1€2]

[183] ent_a[s[1]]--;

[1e4] 14+,

[1e5] 1

[1e6] }

[187] if (ans.first == -1e8 && ans.second == 1e8) {
[1e8] cout << "";

[189] return 8;

[11e] ¥

[111] [/ cout << ans.first << ", " << ans.second << "\n";
[112] for (int i = ans.first; i <= ans.second; i++) {
[113] cout << s[i];

[114] ¥

[115]

[11el
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[1] #include <iostream>

[2] #include <vector>

[3] #include <algorithm>

[4] #include <map>

[5] #include <string>

[6] wusing namespace std;

[7] ostreamf operator<< (ostreamf stream, const pair<int, int>& a) {

[&8] stream << "{" << a.first << ", " << a.second << "}";

[9] return stream;

[18] }

[11]

[12] ostream& operator<< (ostream& stream, const vector<int>& a) {

[13] for (auto x : a) {

[14] stream << x << " "

[15] ¥

[16] return stream;

(171 }

[18]

[19] ostream& operator<< (ostreamf stream, const vector<pair<int, int>>& a) {
[20] for (auto x : a) {

[21] stream << x €< " ";

[22] ¥

[23] return stream;

[24] }

[25]

[26] ostream& operator<< (ostream& stream, const pair<long long, long long>& a) {
[27] stream << "{" << a.first << ", " << a.second << "}";

[28] return stream;

[29] }

[30]

[31] ostreamf operator<< (ostreamf stream, const vector<long long>& a) {
[32] for (auto x : a) {

[33] stream << x << " ";

[34] ¥

[35] return stream;

[36] }

[37]

[38] ostream& operator<< (ostream& stream, const vector<string>& a) {
[39] for (auto x : a) {

[48] stream << x << " ";
[41] }

[42] return stream;

[43] &

[44]

[45] ostream& operator<< (ostreamf stream, const vector<pair<long long, long long>>& a) {
[46] for (auto x : a) {

[47] stream << x << " ";
[48] 1

[49] return stream;

[se] »

[51]

[52] ostream& operator << (ostream& stream, const vector<bool»& a) {
[53] for (auto to : a) {

[54] cout << to;

[55] ¥

[56] return stream;

[571 }

[58]

[59] ostream& operator << (ostream& stream, const vector<vector<bool>>& a) {
[60] for (auto to : a) {
[61] cout << to << "\n";
[62] 1

[63] return stream;

[64] }

[65]

[66]

[67]

[es]

[69]

[7e]

[71] vector<string> parse(const string& a) {
[72] string buf = "";

[73] vector<string> res;
[74] for (auto x : a) {

[75] if (x == ";") {

10



[78] res.push_back(buf);

[771 buf = "";

[78] T else {

[79] buf += x;

(8] }

[81] ¥

[8z2] res.push_back(buf);

[83] return res;

(84] }

[85]

[86] int main() {

[87] string s;

[88] map<string, vector<vector<bool>>> cnt;

[89] map<string, int> len;

(98] while (cin »»> s) {

[91] vector<string> res = parse(s);

[92] vector<bool> cond;

[931] len[res[0]] = max(len[res[8]], (int) res.size() - 1);
[94] for (int 1 = 1; i < (int) res.size(); i++) {
[95] cond.push_back(res[i] == "0K");

[96] }

[971] bool state = true;

[98] for (auto x : cond) {

[99] if (1x) {

[1e8] state = false;

[1e1] }

[102] }

[183] if (lstate) {

[184] cnt[res[@]].push back(cond);

[185] }

[106]

[187] ¥

[188] for (autof to : cnt) {

[1e9] for (auto& w : to.second) {

[118] // cout << w.size() << " " << len[to.first] << " " << to.first << "\n";
[111] // cout << ((int) w.size() < len[to.first]) << "\n";
[112] while ((int) w.size() < len[to.first]) {
[113] w.push_back(false);

[114] ¥

[115] }

[116] ¥

[117]

[118] // for (auto to : cnt) {

[119] I cout << to.first << ":\n" << to.second << "\n";
[128] /1%

[121]

[122] map<string, int> clasters;

[123]

[124] for (auto to : cnt) {

[125] bool S1 = false;

[126] bool 52 = false;

[127] int ¢ = 6;

[128] for (int j = @; j < len[to.first]; j++) {
[129] bool s1 = true;

[138] bool s2 = true;

[131]

[132] for (int 1 = 8; i < (int) to.second.size(); i++) {
[133] if (to.second[i][i1) {

[134] s2 = false;

[135] } else {

[136] sl = false;

[137] b

[138] ¥

[139] if (s1 || s2) {

[148] s1 = 51 | s1;

[141] 52 = 52 | s2;

[142] T else {

[143] ctt;

[144] L

[145]

[146] clasters[to.first] = ¢ + (int) 51 + (int) S2;
[147] ¥

[148] for (auto to : len) {

[149] cout << to.second << " " << clasters[to.first] << "\n";
[150] ¥

[151] }
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